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Topics to 

be 

covered

If-else

Switch-case

Ternary operator



Introduction

Decision Making in Java helps to write decision 
driven statements and execute a particular set 
of code based on certain conditions.

If-else

Switch-case

Ternary operators



If-else

 The if statement alone tells us that if a condition is true it will 

execute a block of statements and if the condition is false it 

won’t. But what if we want to do something else if the 

condition is false. Here comes the else statement. We can 

use the else statement with if statement to execute a block 

of code when the condition is false.



Example



If-else-if Ladder

 Java if-else-if ladder is used 

to decide among multiple 

options. The if statements 

are executed from the top 

down. As soon as one of 

the conditions controlling 

the if is true, the statement 

associated with that if is 

executed, and the rest of 

the ladder is bypassed. If 

none of the conditions is 

true, then the final else 

statement will be executed.



Switch-case

 The switch statement is a multi-way branch statement. It 

provides an easy way to dispatch execution to different 

parts of code based on the value of the expression. 

Basically, the expression can be byte, short, char, and int 

primitive data types or a String type of data.



Example



Ternary Operator

 Java ternary operator is the only 
conditional operator that takes 
three operands. It’s a one-liner 
replacement for if-then-else 
statement and used a lot in Java 
programming. We can use the 
ternary operator in place of if-else 
conditions or even switch conditions 
using nested ternary operators. 
Although it follows the same 
algorithm as of if-else statement, the 
conditional operator takes less 
space and helps to write the if-else 
statements in the shortest way 
possible.

Syntax:

Variable= Expression 1? Expression 2: Expression 3



Example


